
組（ ） 番号（ ）名前（ ）

Ｌｅｓｓｏｎ１ Going into Space １

(a)In 1969 Apollo 11 landed on the moon.
In 1969
Apollo 11 landed on the moon

主 どうした

全訳

＊ In 1969の「前置詞＋名詞」の役割は？＝
＊ on the moonの「前置詞＋名詞」の役割は？＝
・時の前置詞の in、on、atの違いは？＝

(b)Koichi Wakata was five years old.
Koich Wakata was five years old

Ａ ＝ Ｂ

全訳

(c)He dreamed of becoming an astronaut.
He dreamed of becoming an astronaut
主 どうした 何を

全訳

◎句動詞 dream of Aの２つの意味は？
I often dream of walking in space.＝
She dreams of appearing on TV.＝

・ofの役割は？＝
・becomingの～ ingは？＝
◎ astronautの発音記号とアクセント位置は？

(d)Twenty-seven years later, he made his first trip into space.
Twenty-seven years later
he made his first trip
主 どうした 何を

into space

全訳

＊ into spaceの「前置詞＋名詞」の役割は？＝
◎「作る」以外の意味で使うmake。次のそれぞれの意味は？

make a trip＝
make a mistake＝
make a decision＝
make money＝

・「2年後」の意味で、two years later、two years after、in two yearsのそれぞれの違いは？
¶１
(1)I traveled into space three times.

I traveled into space
主 どうした three times

全訳

＊ into spaceの「前置詞＋名詞」の役割は？＝
・travelをmakeを使って同じ意味に書き換えると？＝
・「3回」は three timesだけど、「1度」、「2度」は？＝

(2)Each time I rediscovered my love for the earth.
Each time
I rediscovered my love
主 どうした 何を

for the earth

全訳

＊ for the earthの「前置詞＋名詞」の役割は？＝
・love for Aの forの意味は？＝
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組（ ） 番号（ ）名前（ ）
(3)The ISS takes 90 minutes to fly around the earth.

The SS takes 90 minutes to fly around the earth
主 どうした 何を

全訳

＊ around the earthの「前置詞＋名詞」の役割は？＝
・次の takeの意味は？＝

The novel took him two years to write.＝
・to fly around the earthの toの役割は？＝

(4)For 45 minutes you see the day view, and then in the next 45 minutes you see the night view.
For 45 minutes
you see the day view
主 どうした 何を

and then
in the next 45 minutes
you see the night view
主 どうした 何を

全訳

＊ for 45 minutesの「前置詞＋名詞」の役割は？＝
＊ in the next 45 minutesの「前置詞＋名詞」の役割は？＝
・次の２つの英文は両方とも「１０分後」だけど、その違いは？

The next train will arrive in ten minutes.＝
The train arrived after ten minutes.＝

(5)It is very dark at night.
It is very dark at night
Ａ ＝ Ｂ

全訳

＊ at nightの「前置詞＋名詞」の役割は？＝
・itの役割は？＝
・「夜は」は at nightだけど、「午前中は」、「午後は」、「晩は」どうなるの？＝

(6)The stars are shining.
The stars are shining

Ａ ＝ Ｂ

全訳

(7)The Milky Way stretches on and on.
The Milky Way streches on and on

主 どうした

全訳

◎次の２つの違いは？
The plain streches for miles.＝
She streched her arms.＝

◎ on and onの意味は？＝

(8)Our blue planet Earth looks like an oasis in the vastness of space.
Our blue planet looks like an oasis in <the vastness> of <space>
Earth

Ａ ＝ Ｂ
in <the vastness> of <space>

全訳

＊ the vastness of spaceの「A of B」の役割は？＝
＊ in the vastness of spaceの「前置詞＋名詞」の役割は？＝
・同じ「ＡはＢのように見える」なのに次の２つの違いは？

She looks like an angel.
She looks happy.
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組（ ） 番号（ ）名前（ ）
¶２
(9)You can see images of the earth from space on TV and computers.

You (can)see <images> of <the earth> TV
主 どうした 何を on and

computers
全訳

＊ images of the earthの「A of B」の役割は？＝
＊ on TV and computersの「前置詞＋名詞」の役割は？＝
・onの意味は？

(10)But those images are very different from the real view of the earth from space.
But
those images are very different from <the real view> of <the earth>

主 どうした 何と
from space

全訳

＊ the real view of the earthの「A of B」の役割は？＝
＊ from spaceの「前置詞＋名詞」の役割は？＝

(11)You can clearly see the oceans, the clouds, the mountains, and the rivers.
You (can clearly) see the oceans

the clouds
the mountains

and
the rivers

主 どうした 何を

全訳

(12)You can even identify Japan by its shape.
You (can even) identify Japan by its shape
主 どうした 何を

全訳

＊ by its shapeの「前置詞＋名詞」の役割は？＝
◎次のそれぞれの byの違いは？

He was arrested by the police.
I went there by car.
Don't judge a person by his appearance.
I missed the train by a minute

(13)I feel so lucky to have a beautiful home planets.
I feel so lucky to have a beautiful home planets
Ａ ＝ Ｂ

全訳

◎「感じる」以外の feelの意味で次の英文は？
I feel like a king.＝
I feel like a cup of coffee.＝
I don't feel like going out now.＝
I feel that the movie will be a success.＝

・to have a beautiful home planetsの toの役割は？＝
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